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Topic:- Physics

1) The diameter of the objective of a telescope is 10cm. If a light of 600nm is used, then the resolving power
of the telescope is: /

TS XA & fHexas &1 T 10 9 71 afE 600nm F UHT &1 IUTRT a1 S1aT B, O gra St faWeT &man &:
1.137x10°

2.137x10°

3.137x 107

4.137x 10}

Correct Answer :-

. 137x10°

2) ;
If Fis the force, mis the mass, vis the velocity, then the dimension of P and Q in the relation F= (Pm'»]

respectively are: |

A F aT B m EeTA & vad & ardeay HF= ([ff;) # p3R QF faam wer £

1. [T]and [T]/ [T] 3R [T]

2. [T™], and dimensionless / [T"'], 3R fauTg
3. Dimensionless, and [T]/ fdHTEH, 3R [T]

4. [LT" and [LT2]/ [LT"!] 3R LT3

Correct Answer :-

« [T, and dimensionless / [T""], 3R fquTe

3) The density of solid ball is to be determined in an experiment. The diameter of the ball is measured with a
screw gauge, whose pitch is 0.5 mm and there are 50 divisions on the head scale. The reading taken on the
pitch scale is 2.5mm and that on head scale is 20 divisions. If the measured mass of the ball has a relative
error of 3%, then the relative percentage error in the density is: /

T® 319 g & g9@ &1 U wanT ® FHuffea fear s 21 i 1 o v 3 I gR1 |nr 5irar 8, et fUg 0.5 finft @
3R =i A0 WR 50 fyuTer €1 e U w foran war urewie 2,51 § ok 3 3uM wR 20 fyure €1 afe g F A
T SHHE § 3% P MR FfE 8, df e # smifare wfawra Ffe akh:

1.4.1%
2.4.2%
3.3.1%

4.3.2%



Correct Answer :-

e 4.1%

4) A ring, a disc, a solid cylinder and a solid sphere, all having the same mass and radius are allowed to roll down on an
inclined plane simultaneously. Which of them will come first at the bottom? /

U g, °h, 319 Rifeis iR ver 319 ian, = It & goawm ok s 99E €, ) oFd ad W AR $t e
b a1 9ITaT 8, 3779 | i a9 Ugd i 3mem?

1. Disc / deh

2. Ring / el

3. Solid sphere / 31 TTel

4. Solid cylinder / 319 ffeieR

Correct Answer :-

« Solid sphere / 319 Td

5) For red light, the focal length of a biconvex lens is found to be f,; when the red light is replaced by blue light, the focal

length is found to be f;,.Which of the following relation is correct? /

AT UPTR & Y, Tw SUAd A $t Bidvd s f, UK TS, 9d A1 UHTRI 1 A1 T A da 391 oran g, ot
Wihd TS £, Ut TS| ) Fafifee 4 @ o9 ar dey a8 @

1.£,~f
2.1, 71,
3.1, =1,
4.1 f,

Correct Answer :-

6) Spot the CORRECT statement from the following. /

P d A P T HUT T Y

1. For the myopic person the power of the eye lens is more than the power of the normal eye /
3reRef cufa 3 forg st o= & iy T = ) 2ifdy @ 3ifdiep Xt @

2. Hypermetropia is due to aging /

ERETRA HIATHTG & HRU Sl 3

3. A convex lens of suitable focal length is needed for a myopic person /
IUYAd i daTs ardl U 3ad ad, 3R (WAt safad & fae saxge grar gl
4. Myopic person can see far objects clearly but not the near objects /

3reRe e cufe gr ) 9xg3il ) WY TU Y W Tobell & Afeb b ) axg3h &) 7t @ Fha1 2|

Correct Answer :-

» For the myopic person the power of the eye lens is more than the power of the normal eye /



3Rl oafer & forg it =g i ekt HA =1 B Al F 3Hfereb Biell &

7) The resistance offered by an ideal diode when it is reverse biased is: /
TS 3HTE3 ST §RT UG UfaR1Y, 59 98 U™ 91a1d o
1. Half that of the resistance when it is forward biased / UTcRIY BT 3TYT, §d 98 TR %

2. Infinity / 3{-d

3. Zero / [

th w

. 1
% of the resistance when it is forward biased /ITaIe &1 3 o4 9% FIEET B

Correct Answer :-
« Infinity / 3d

8) The graph which represents uniformly accelerated motion is: /

I8 TT% St A =4 § ©fd Td &) g2iiar a:

“/‘\.
8
1
1 i tme a
uf\
:
g
2. tme
)
B
E 4
4
4
3. S
4
4
4. e

Correct Answer :-

9) The neutral temperature of a given thermocouple, when cold junction is at 0°C, is 300K. Now temperature of the cold
Jjunction is increased to 10°C. Neutral temperature becomes: /

AT 7T U ATU-dgad g BT ded YU, TF AW |i 0° C B, d 300K B | 3T e Wi F AIH B §GTHR 10°C
P foar T § | TER 9N 99 ST §:

1. 273K



2. 310K
3. 290K

4. 300K

Correct Answer :-
* 300K

10) The principle of nuclear reactor is based on: /

Tfeta R¥ees #1 fraia g9 w snuRa &:

1. Spontaneous nuclear disintegration / ¥dd: Tt faees

2. Controlled nuclear chain reaction / AT ATfi®T S ICK] Srfufear

3. Controlled chemical reaction / AT IGmAA® Hffdsar

4. Uncontrolled nuclear chain reaction / AT ANDHIT el ffepar

Correct Answer :-

« Controlled nuclear chain reaction / FIRd AfHPHT H@?ﬂ 3ffHferar

11) The radius of gyration of a thin uniform rod of length ‘L’ about an axis perpendicular at its midpoint is: /

IS ‘L’ D1 TP Uddl THHA TS B1 SUS HeAfdg U dadd T e W TRYA0 o1 Bar gift:

|

=
[ ]
fiey

| =

N
2
[y

‘ -

W
)
31

ko |

Correct Answer :-

12) The equation of a plane progressive wave is given by y = 10 cosm(400t — x/50) where x and y is in cm and t is in seconds .
The velocity of the wave is: /

wammWWWWF 10 cosm(400t — x/50) GIRT faT AT §, STET x 3R y A H & 3R ¢ Abs A &1 7=
Cal :

1. 200m/s / 20091/
2. 100m/s / 10051/
3. 250m/s / 25091/

4. 150 m/s / 150 H/A

Correct Answer :-

o 200m/s / 2009/



13) The refractive index of the given prism is 1.6 and the angle of prism is 100, the deviation caused is: /

32 T e 1 SrqadHie 1.6 7, 3% Frew &1 @107 10° B, o IHS SR I fwa &
1. 16°
2.15°
3.6°

4. 8°

Correct Answer :-

e 6°

14) The work done in rotating a magnet of dipole moment ‘M’ in a magnetic field ‘B’ through 90° is: /
SePta 8 B F M T 4 STl a1 U S B 00° & quT R & e T 7 @

1.\2 MB

2.2MB

3. MB

MB

4, 2

Correct Answer :-

15) The pressure at the bottom of a tank containing a liquid does not depend upon: /

s 5d Fifed 3 & 9o A o g9 R Rk TEi wea:
1. Area of the bottom surface / Il I & &FHA

2. Density of liquid / TRd & G-

3. Value ofg/g$r|'|:f

4. Height of liquid column / TR& TH CARCE|E

Correct Answer :-

« Area of the bottom surface / Hdg & &?au»—cr

16) The specific heat capacity of aluminium is 880J/kg/K. Thermal capacity of an aluminium vessel of mass 20 kg is: /
AT Bt ST arfar 880J/ke/K B 1 TH 20 f9m soqum & AGRAFraw & ad= o1 I nfar g

1. 1.76 x 10°J/K

2. 1.76 x 10%)/K

3.1.32x 104/K

4.1.32x 103K

Correct Answer :-

« 1.76 x 10%/K



17) The slope of the stopping potential verses frequency graph is: /
PRI fava 9w 3ngfy aTe @Y waurar gl @:

h
e

j=al

w
Elo

o | B

Correct Answer :-

18) A given charge situated at a certain distance from a short electric dipole on its axial line experiences a force ‘F’. If the
distance of charge is increased to three times the initial distance, then the force acting on the charge will become: /

% B¢ fagad fiya I v FAifda gt = Ry fean mar oo smawn sroeit srefia a1 R F 9@ &7 srgua srar g1 afe
SATART P g3 TSTHR URFUS gt B oI+ [t B &Y oIl 8, Sima= WR Hria 9 99 SIe:

1.9F

WO |

[ ]
S

L |

Correct Answer :-

F

27

19) Anideal gas is found to obey an additional law PV?2 = a constant. The initial temperature of the gas is ‘T’ and its volume
is ‘V’. The gas is now heated so that its temperature becomes 3T, the resulting volume of the gas is: /

TS 3Texf 9 U rfafvaa fFraw pv2 = te RR, &1 ura w5t g3 urlt 711 19 &1 yRfe arawm= 1 3 3R 3931
MGA V 21 T 1 3q TH 54T SI1aT @ d1fP SHBT dTaH 3T S ST, 37 19 BT YR Smaa= gm:

1.9V

hi
0



20) A batsman hits a ball with a velocity of 30m/s at 60° to the horizontal. How far above the ground it passes over to reach
the fielder at 30 m from the bat (g = 10m/s2)? /

TS JeaTS Sfasl T 60° W 303 /A F I TS ¢ &1 URAT 81 60 F Wit 9@ Ugd F e ag s+ & FW
frat g8 A ToRd 82 (g = 10 MA2)

1.22.4m/22.4 9
2.31.96m/31.96 |l
3. 14.6m/ 14.6 |t

4.21.9m/21.9 Ht

Correct Answer :-
« 31.96m/31.96 H

21) Radii of two planets are in the ratio 1:2 and their densities are in the ratio 5:6 (assume density to be uniform). The ratio
of acceleration due to gravity on their surface would be: /

31 78l B 3T 1:2 F 3rJuTa # € 3R 3% U 5:6 b U A § (T9cd B THIH HIH o) | ITP! g W
TF@THYUT & HRUT GUT BT SJUTd FHIT:

1.1:2
2.5:24
3.5:12

4.5:6

Correct Answer :-
o 5:12

22) Of the basic forces existing in nature, the weakest force is: /
UHfa A Iuasy ga gl #, o FHSIR 99 8-

1. Nuclear force / AN &

2. Electrostatic force / fRR 3‘;{&3 EN

3. Electromagnetic force / ﬁ@?ﬁ%ﬁﬁq EN}
4. Gravitational force / Wﬁb—ﬁﬁﬂaﬁ

Correct Answer :-

+ Gravitational force / Wﬁfm EN)

23) A second’s pendulum consists of a hollow spherical bob of mass 30g. This bob is replaced by another solid bob of same
radius and mass 60gm.The new time period will be: /



TP JHUS AIad 307 SHAM & WRad Mot a1d J ol 31 3T 919 B T 24T 3R 6091 S & T 3=
319 919 gRT 9o faar ST 81 78 99y 3rafy gnf:

1.2s/2 98
2.3s/3qHS
3.8s/8 s
4.4s/ 4 qbS

Correct Answer :-

. 25/2 9P

24) If the mean distance between earth and sun is made 4 times its present value and orbital velocity is made two times of its
present value, then the duration of one year becomes: /

gfe gt 3R G & g &) aren g8 TS IdA A B 4 T HR & A1 B 3R Hefa 3 B adur 9 BT Sy A
o e sran ], Y v af 1 sraft 9= @it @:

1. 182.5 days / 182.5 f&=
2. 365 days / 365 f&
3. 1095 days / 1095 f&

4. 730 days / 730 &

Correct Answer :-
« 730 days / 730 f&

25) If the decay constant of the radioactive element is 0.173, then it half-life is: /
Tfe e Yeaafha 9 &1 &1i® 0.173 B, 91 3931 3 Mg 8:

1.2s

2.4s

3.5s

4.3s

Correct Answer :-

26) If the period of oscillation of mass ‘m’ suspended from a spring is 1s, then the period of oscillation of mass ‘2m’
suspended from the same spring is: /

uagrq%?ﬁﬁﬁﬁﬁa‘m’W%Waﬁmﬁﬁ%,aﬁmmﬁﬁﬁm'zm’mﬁ%aﬁmﬁ
U] :

1.V3s/\3 qd8

2.25/\2s Yhg
1 1

3. 2 512 g

RN

4, F‘Es/qﬁ Jdbhs




Correct Answer :-

e 25/ 2 s AT

27) By closing the primary circuit, the current in that circuit is raised to 4A in one millisecond. What is the induced emf in
the secondary coil if the mutual inductance of the two coils is 2 henry? /

e ulkuy ) d¢ e, 39 URTY & URT Uw firelids A 44 @ Te1 &) Wit 81 fdias paeft A ofva
Sunuw (agaq-deata &) o 8, afe &) Sl 1 3=y iRew 2 3781 §2

1.8x10*V
2.8x 102V
3.8x10°V
4.8x103V

Correct Answer :-
. 8x10°V

28) An electron is moving in a circular path of radius 4 cm in a uniform magnetic field. If the speed of electron is doubled,
then the radius of path will be: /

TS A THIAH gaa g a7 | 4 At Ao & gxita vy & 7 @1 31 9l saee 3t ara it s ot 8, @
Ty & e gift:

1. 4 cm/ 4 9t
2. 16 cm/ 16 94T
3.8 cm /8 Ml
4.2 cm /2 9Ht

Correct Answer :-

« 8cm/8TH

29) A bullet hits and gets embedded in a solid block resting on a frictionless surface. In connection with this process, the
correct statement is: /

TS 7ol TR d Hag IR faRmHewT # 7R 319 T &) @l @ 3R 49 STdl 81 39 ufhar & Jay §, I8l dU= 8:
1. Kinetic energy is not conserved / TTcroT Folf TRI&d Tl &

2. Kinetic energy is conserved / Tfcol Soll GRI& &

3. Neither momentum nor energy is conserved / 7 & GaT 3R 71 & Soif W& &

4. Momentum is not conserved / Sa7 TR 81 §

Correct Answer :-

« Kinetic energy is not conserved / A Sl WRiga qg’f%

30) An object is projected from a horizontal plane at the angle for maximum horizontal range. The maximum horizontal
range and the maximum height attained during flight will be in the ratio ./

TS avg B Qfot aa A Sfas W F e Hior R gafa far man 3 & IR wre siftrean fest w3k
APauGas _ gura A gnft

1.2:1



2.4:1
3.1:1

4.3:1

Correct Answer :-

31) A constant force is pushing a 10 kg mass on a horizontal surface at a constant velocity of 10 m/s. The coefficient of

friction is 0.1. If the force acts along the direction of motion, then the rate of doing work is (take g =10 m/sz): /

e fRR 9 10 fratumrd gera= 31 10 A F AR A7 F @fos Tag R yda ve1 8 | afur &7 v 0.1 81 afe 9
Tfa Ft fezn # il Far 8, d w1 FA R 8: @ AR g = 10 A2

1. 50W
2. 150W
3. 200W

4. 100W

Correct Answer :-
o 100W

32) A conductor P and conductor Q, made of the same material, carry currents in the ratio Ip/Ig = 2:1. If the ratio of radii

of wires rp/rg = 1:2, then the ratio of drift speeds of free electrons in P and Q at that temperature is equal to: /

FAH e | S AT P 3R A Q, I/l = 2:1 P 3JUTd H YRS B yarfed Hd 8| afe arY &1 Breamsfi &1
U rp/r = 1:2, T I ATTHM | P 3R Q & o SAAaE I & 3(UATE ATall BT SJUTd 19 & SRTER g1

1.2:1

2. 4:1

3.8:1

4. 16:1

Correct Answer :-

33) Two perfectly black spheres have their radii in the ratio 1:2. If they have kept in the same temperatures, the ratio of heat
loss from them will be in the ratio: /

3 guiaar e e 3 Hsang 1:2 & rgura § 71 9fe 3 g9 areH # 3@ 9 g, 9 399 81 ard ST g1 BT
SuTd =1 g m:

1. 1:4
2.2:1
3.1:2

4. 4:1

Correct Answer :-

o 1:4



34) Two resistors rated Py, V and P,, V are connected in series across a potential difference of ‘V’. The total power

dissipated in them is: /
P, V 3R P,, v Fifa gt uftRiee fyumaiar v & 9oft & 93 gu &1 o4 famfva va wfda 2:
1. Pl +P2

2.P, P,

A +5

(BE)
3.

AR

E+F)

Correct Answer :-

35) Two cars A and B are moving with same speed of 62 km/h each along the same direction. If a third car C coming from
opposite direction with a speed 58 km/h meets the two cars in an interval of 2 minutes, then the distance of separation of A
and B should be: /

BN A 3N B TP & 2 # 62 5+ ufer g1 & F0= 91ar & 3m) 9¢ 6 &1 afe 58 fpi/eier ) wrer @ fordia fezm @
3T TP TR B ¢, 2 fFe & 3iavma & a1 PRI A et 8, &) A 3R B & d9 &1 g&f -t =nfu:

1. 3.5km / 3.5fHT
2. 4km / 4fpHY
3. 5km / 5T HT

4. 4.5km / 4.5fpH

Correct Answer :-

o 4km / 4fBH

36) Two point charges repel each other with a force of 100N. One of the charges is increased by 10% and other is reduced by
10%. The new force of repulsion at the same distance would be: /

31 fig M= 100N F 96 A TH gk B! ufawtfa Hd &1 TH AT DI 10% T Fa1 T 3R g2 Bl 10% FH H
foar a1 Tu gft wR wfaeyur &1 T 99 g

1. 108 N
2. 121N
3.96 N

4.9 N

Correct Answer :-
¢« 99N

37) Two parallel plate air capacitors of capacitances C; = 2pF and C, = 5uF are connected in series across a potential

difference of ‘V’ volts. The ratio of the energy stored in C; to energy stored in C, is: /



C, =2pF 3R C, = 5uF UTRAT aTd G FHIGR We arg GUTRA v diee & fautaiar # 9oft 9 98 gU 71 ¢, ¥ SIdia St
BT C, § WUGH Hotf & ATY 3JUTd FI:

1. 4:25
2.2:5
3.5:2

4,254

Correct Answer :-

38) Two wires of the same material are stretched by forces in the ratio 1:4. Their respective lengths are in the ratio 1:3 and
radii in the ratio 1:2. The extensions produced will be in the ratio: /

T & et A a7t & A 1:4 F SIUTa W T GRT A BT 7T | AP AATSAT HHRM: 1:3 P U H &, 3R AT 122
¥ 3rgura ¥ §1 Iaunfed fawar 39 arqura A git:

1.1:4
2. 1:2
3.4:3

4.1:3

Correct Answer :-

39) An airplane having a wing span 30m flies with a speed of 1000km/h such that the plane of the wing is parallel to the
earth’s magnetic field 0.4 gauss at that place. The induced emf at the ends of the wings is: /

o faur o vt &1 Bara 30+ 8, 1000 frril/aer @) wrer & 39 ¥ S5 ¢ % U@ &1 WR (@), 39 M W gt
& AP & 0.4 Y F FHIGR 81 U= & RRY W Wfva Sunew (Aigaq-gaeia &=) ghm:

1.7.5V
2. Zero / R[H
3.75V

4.0.75V

Correct Answer :-

40) An ammeter can read up to 1A. Its internal resistance is 0.8Q. To increase its range to 5A, the value of the required
shunt is: /

gﬂﬁﬂ?\r 1A T U 9l & | SHPT 3 UfaRIY 0.8Q 1 SHP IR B 5A TP d¢M P foIg, ATITID Tied BT AF

1.02Q
2.0.03Q
3. 0.02Q

4.0.3Q

Correct Answer :-



41) An alternating current can be converted into direct current by sending it through: /
TS YTadl YRT B 3HS A1eaH | TR B fote uRT A ufvafda foar o awar &:
1. an inductor / Uch b

2. aresistor / Uh PIGRE

3. a capacitor / Th et

4. a p-n junction diode / p-n IfY SIS

Correct Answer :-

« ap-n junction diode / p-n T SIS

42) Which one of the following statements is WRONG about induced emf? /
frafafea & & o1 Ia Seraee (gaq-geota &) & v § s w3 3:
1. An induced emf is set up in a coil when the magnetic flux linked with the coil changes. /
e Hecil A Gad gab 1 ifare uikafdd gidl & O Heo! § U IRd STATK RITUd g1 offdl &
2. An induced emf'is set up in a coil when it is moved in a magnetic field. /
Heoll B T IR STHTG RIfd € Wil & Sid 39 Yaep g &5 B wyHiafd fbar Siar g
3. An induced emf is set up in the secondary coil when a changing current is passed through the primary coil. /
e aRadT 4T B UTfies Sl & HIE F TCIRT 911 § df fgdiad Heot & U URd STAT RAfUd 81 J1dl &
4. Induced emf is setup in a coil when a constant current is passed through a coil. /

P IR STATE WA ) ST &, S T el & HIEd I fRR YRT b ToRT oIl &

Correct Answer :-

» Induced emf is setup in a coil when a constant current is passed through a coil. /

Feait # URd STHTE WD 81 ST ], 519 U draalt & H1ed I fRIR YRT &1 T[SIRT ST §

43) As the intensity of light falling on the metal surface increases, the: /

Y S YT B g UR US Tg BT B el deel 8

1. Stopping potential increases / fRieh fava dedl g

2. Photoelectric current increases / W’Q@gﬂﬁ YR TGl g

3. Kinetic energy of the ejected electrons increases / CIRREIS] gﬁaﬁ'—ﬁ CaRIGER aa‘cﬁ %

4. Work function of the metal surface increases / YT D! T8 BT HR-Ha dedl g

Correct Answer :-

o Photoelectric current increases / Wﬁgﬂﬂ IR aa‘cﬂ%

44) A body of mass 4kg slides down a rough inclined plane with uniform velocity. The inclination of the plane is 30°. The co-
efficient of friction is: /

4FF T SHTE B TP g W I A WA T FHAd 1 WPl ¢ | THAS BT PP 30° 3 | T T YOI -
3
1.



b | =

f3
2.

1

4. "E

Correct Answer :-

45) A body of mass ‘m’ is having a non-uniform circular motion of radius ‘r’. At any instant, its angular velocity ‘®’ and
angular acceleration is ‘«’. The magnitude of force acting on it is: /

TS ‘m’ SHUH $1 a%g BT < F 30 gaity e A nfoxita 31 faf oft 3w, swe Sivia 3w’ 3R S
WU '« 81 59 UR BTABRY g¢l BT URHAT8:

1. mr\/((u4+o<2)

2. mroc?

3. mro?+ mre

4. mr(x)2

Correct Answer :-
. mr\/(o)4+0<2)

46) Electric potential gradient is: /

fagga-fava yaurar &:

1. A scalar quantity / Ydh sffeRr Ay

2. A vector quantity / T IR

3. A dimensionless constant / U 3{fdH fRRI%H

4. Neither a vector nor a scalar / = I U JfGQT ARAE & e

Correct Answer :-
o A vector quantity / Ych SRR

47) A cell supplies a current of 0.5A through a 3Q resistance and 0.25A through a 7Q resistance. The internal resistance of
the cell is: /

TH A TP 30 TR & W17 | 0.5A YRT B TYfef Hear 8 3R TP 70 ufoRie & ureqy | 0.254 Bt myfed war 21
9 A9 BT TR wfaRie §:

1. 0.5Q
2.1.5Q
3.1Q

4.0.75Q



Correct Answer :-
¢ 1Q

48) Two parallel long straight wires are placed at a distance 9 cm apart as shown in the given figure. If they carry
current ‘T" and “2T" respectivelvin the same direction, then they will produce zeromagnetic field at a distance of* /

al WHAIR el Tl A o FAT 1 gl o Wl 9 g S 6 AR & a8 i A fowr a3
afe & wAmE G # A 1 3R 20aRyaffd a6 ot & gea e &1 &1 fasor S5

1. 6 cm from P towards Q / P ¥ Q &1 3R 6 THI BT G R

2.3 om from Q towards P/ Q ¥ P &1 3R 3 YHI &I g W
3.3 cm from P towards Q /P ¥ Q 1 3R 3 9HI B gH W
4. 4 cm from P towards Q / P ¥ Q &I 3R 4 YHI &I U |

Correct Answer :-

. SCmfromPtowardsQ/P@[Qaﬁ\?‘nT Sﬁaﬁ@tﬂ

49) The angular velocity-time graph of a flywheel is shown in the given figure. The angular acceleration is: /
Udh ellS hlel (ITTelch Tsh) ol IV GEL-THT A #irg &1 15 Hihid # fe@rm o= g1 wiofrr

AT &

w in rad’s

tme (s)

1. 1.73 rad/s®

2. 0.87 rad/s?

3. 0.5 rad/s?

4. 1 rad/s?

Correct Answer :-

e 1.73 rad/s?

50 : : 5 !
) When the source of sound moves awav from a listener at rest with a particular velocity, the apparent

frequency heard by the listener is reduced to 1/3 rd of the actual frequency. The velocity of the source is:
(given velocity of sound is 340m/s}/

Sa wafer @1 i o fadw der & o A § gy S 8 o AT garT el S arelr
HTATHT 3dfcd HT FH HIh aREdidd Hdicd 1 1/3 I GATAE §1 9 Fid 1 47 &

(fem amm &-eaf=r &1 a9t 340 #Hi/

1. 650m/s / 650HT/A



2. 720m/s / 7209 /™
3. 700m/s / 70091/3
4. 680m/s / 680/

Correct Answer :-

. 680m/s / 680/

Topic:- Chemistry

1) The paramagnetic octahedral complex, [CoF; | *~ uses orbital (4d ) in hybridization Ll
GETu # eI ISChoihld HIEHS, [CoF. ]+ FETT (4d) & TG AT B

1. outer; sp3d3 / sp3 d3 ; dTd]

2. outer; sp3d2 / sp3 d? ; dle]

3. inner; dzsp3 /d? sp3 ; NIGIRET
4. inner; dgsp3 /d3 sp3 ; 3R
Correct Answer :-

« outer; spd? /sp3d 2 dl

2) Whatis the enthalpy of isomerization of propene to cvclopropane if the data given is as follows?
AH: of COyg, HaOp,. and propene are —393.5, —285.8 and +20.42 kJ/ mol, respectively. The AHom of
cyclopropane is —2091 32 kImol. /

few av frafeifad Jidsr 7 9l ¥ Fsaondid= T quifsd TATEaa- T 87
COyp HT AH; . FhOp, . Td W1 HAM: —393.5, —285 8 Tdl +20.42 TeheliTer Alel & | Wrgaela=

T AHcomny —2091.32 ﬁm’mﬁ' e &
1. +33 kJ/mol / +33 m\_’lﬁ/nﬁa
2. +426 kl/mol / +426 fareirelel/ Hiel
3. — 33 kJ/mol / — 33 fobeilefer/ At
4. —66 kJ/mol / —66 T aIeIa @A

Correct Answer :-

« +33 kJ/mol / +33 faea @@

3) What is the correct sequence of elements in the Il period? /
3ad 11 § dedl BT Hel pH HT BT 82

1.B,C,N,O

2.C,N,0,B

3.0,N,B,C

4.B,N,0,C

Correct Answer :-



4) Bond dissociation enthalpy in the halogens follows the order: /
gaite # du faaer goiter fora 9 3 g &
1.Cly<Bry<Fy<ly

2.Cly>1,>F,>Br,

3.Cl,>Bry>F,>1,

4.F»>Cl, >Bry > I

Correct Answer :-

e Cl>Bry>F,;>1,

5) Name the gas liberated by Mg when it reacts with hot water is: /

39 1Y BT T4 g4, S Mg P TH Sa & 914 fHfhar w31 I Ui gl 21

1. NO,
2. CO,
3- HZ

4.0,

Correct Answer :-

6) The solutions which show a large positive deviation from Raoult’s law form at a specific composition. /

m%ﬁw%mﬂ,aﬁﬁwﬁﬁmwﬁammmmﬁﬁ&wmw o1 fortor
|

1. minimum boiling azeotrope / JAdH &Y RN

2. immiscible solution / 3{THSUY faera=

3. maximum boiling azeotrope / 3 dH HyF RR&

4. condensed solution / Fafd faaaa

Correct Answer :-
« minimum boiling azeotrope / JAdH U7 e

7) The coupling reaction forms the basis of: /
g SfUfpar 3% SMUR &1 fafor wear 8
1. Carbylamine test / mﬁﬂ@ﬂqqﬂm

2. Lucas test / TgehTH TRI&UT

3. Libermann’s test / feTaRE BT URT&0T

4. Azo dye test / TSI ISTh Ut

Correct Answer :-

e Azo dye test /Q@Wﬁ&m



8) The half life for radioactive decay of 1cis 5730 years. Its disintegration constant is: /

14¢ 3 IfsUAlry era Ft 3y 5730 9 g1 3HDT fyged RRIP &
1. 5.545 x 103 year / 5.545 x 103 %

2.1.209 x 10 % year / 1.209 x 1074 G§

3.1.209 x 10* year / 1.209 x 10% G§

4.1.109 x 103 year / 1.109 x 103 @Y

Correct Answer :-

« 1.209 x 104 year / 1.209 x 104 T4

9) Drugs which inhibit the enzymes that catalyse the degradation of non-adrenaline are: /

A sitwy Y 37 TITHI BT FARIY B §, Y A19- GSArega & i o SaRd wedt @:
1. Antacids / 3FRTGGHTIch

2. Analgesics / GGATRI®

3. Antidepressants / 3[GITERIL

4. Antibiotics / Ufasifaes

Correct Answer :-

e Antidepressants / Sraqreredt

10) The earthy impurities associated with the ore are called as i
P | Taftra ger it srggfsar Pgardl g
1. flux / Ydlg

2. slag / YTgHA
3. minerals / @Sl

4. gangue / STt

Correct Answer :-

e gangue/ ST

11) Identify the element that has minimum number of outermost electrons. /
I I B! U ORI STerad Saaei-l B WET SeuaH g

1. Al

2.P

3.Ca

4.C

Correct Answer :-



12) Which of the given elements W, X, Y & Z with atomic numbers 4, 12, 15, 20, respectively, belong to the same period? /
fauw A qedl w, X, v T z, oIS URHTY] ST SHURT: 4, 12, 15 TG 20 B, H DI UM 3Tad a1dt 82

1L W&X/WTIX

2.W&Z/WTWEZ

3.X&Y/XTWY

4.Y&2Z/YUWdZ

Correct Answer :-
e X&Y/XUIY

13) Which one of the following reactions is accompanied by evolution of heat? /

Frafafea & & fva sifuftrar grT Soar Sad gt 32

1. Dissolution of ammonium chloride in water / ST & &rn‘rﬁmaaﬁm—s'mﬁw
2. Dilution of sulphuric acid in water/ﬁﬁﬁﬂm Wﬁ?‘lﬂ?ﬂ

3. Decomposition of cupric nitrate /WWW AHUYgcH

4. Decomposition of ferrous sulphate / g g &1 3Uge

Correct Answer :-

« Dilution of sulphuric acid in water/WﬁW &Iﬁfﬁ?‘lﬂ?ﬂ
14) An alloy of copper and tin is: /

a1 ud fe &1 U fiy arg 8:

1. Brass /tﬂaa(am)

2. Stainless steel / IO WA

3. Solder / HitaR

4. Bell metal / 9Cl-H I (a?fﬁf?‘l)
Correct Answer :-

+ Bell metal / UCT-H T (a?fﬁ??l)

15) How many moles of AgCl will be precipitated per mole of [Pt{NH; % C1]Cl; with excess of AgNQ;? /
AgNO;#I HFEIRdT & TR AgCldh o=l AHIV] [PH(NH;);ClICL: & Uid AHINT] GaRT Haartd giare

1.4
2.3
3.5

4.1

Correct Answer :-



%ﬁ%&muﬁﬁzmﬁw@rﬁﬁﬁmﬁﬁzmmm%lmaﬁmmﬁaﬁmm

1. +4to +5 / +4 F +5
2. 4510 +7 / +5 T +7
3. 47t0+6/+7 T +6

4, +6to+7/+6@+7

Correct Answer :-
. +7t0+6/+7 T +6

17) C4H44N (X )+ HONO ------ Ter. alcohol . The compound X will: /

C4H13N (X ) + HONO - Jeitaeh Vepigia | ARI® X :

1. give Hofmann bromamide reaction /Eﬁqm STFLWTW%l

2. give Lucas test / TIPHT TRI&0T ¢l gl

3. form zwitter ion /Eﬁa WW%I

4. undergo diazotisation reaction /m G{T\mﬁww%l

Correct Answer :-

« undergo diazotisation reaction / S gSleTRoIRA SHfUfHaT T Bl ToRd i

18) The formation of a photographic image on exposure of AgBr crystal to light is due to: /

AgBr fp & d @) Yo # IWIfed FI1 R TP BleUbe Sfa &1 i g1 #1sRur 8:
1. Schottky defect /me

2. F-centre / F-$h%

3. Frenkel defect / Thohdl GIW

4. Non-stoichiometric defect / TR-YTIHIHRUTHINT Gy

Correct Answer :-

« Frenkel defect / o d GIY

19) The hydrogen electrode is dipped in a solution of pH 3.0 at 25°C. The potential of the cell would be: /
TSSO SAGEIS B 3.0 pH F faerg=T § 25°C W garar orar 8 | Ad &1 faua gm:

1.0.177Vv

2.-0.177v

3.-0.087V

4. 0.087v

Correct Answer :-

e -0.177V

20) The possibility of elimination reaction in an alkyl halide is favoured by: /

TP AchISd gags A FFRrevor ifHfshar &t FHTT SHP gRIST eIl &:



1. Weak bases / HHGIR &R

2. Polar solvents / gaﬂnﬁw
3. Strong bases / HSIId &R

4. Low temperature AECGIEIE]

Correct Answer :-

« Strong bases / ASgd &R

21) The series which is not following the correct sequence as indicated against it is: /

I% g, S ISP faudia gfra fond e gt s ST uTe T8 $2 W8 6

1. CO, < Si0, < SnO, < PbO, : Increasing oxidizing power / CO <SiO <SnO, <Pb0O;: e Sffqfteor wfda
2. HF < HCI < HBr < HI : Increasing acid strength / HF < HCl < HBr < HI : FHAM 3ty UTeey

3. B<C <O <N : Increasing first ionization enthalpy / B<C<O <N : FHAH TUH STIHR EUT S

4. NH; < PH; < AsHj < SbHj : Increasing basic strength / NH3 <PH3 <AsH3 <SbH3: M &R® Tae

Correct Answer :-

« NHj < PH; < AsHj; < SbHj : Increasing basic strength / NH3 <PH3 <AsH3 <SbH3: 3 &R UTae

22) Density, melting points and boiling points of all isotopes of an element is slightly different because they have different
number of: /

% a@ & G THRITAS! 3 Tuar, T 3R SUHIS YIS e g 8, Flfh I 3HP AT 3T gielt 3:
1. Charges / 3Ta¥1

2. Protons / W&

3. Electrons / 3G

4. Neutrons / ?g:g'T?r

Correct Answer :-

» Neutrons / ?K\I&f

23) One mole of hydrazine (N,H,) releases 8 moles of electrons to form a new compound X. What would be the oxidation

state of N in the compound X if we assume that all the N appears in the new compound? /

BISSTI (N, H,) FT TH ATHSHU] TP ¢ iR X H1 fmior a1 & forg sdaei=l & 8 amarsh & gad sxar g1 afg
B HeuT 3 [ Tt N 7T 0iftre # IufRia gid €, Ot 9iffies X & N FY aifefieor srawut a1 gifi?



Aluminium carbide contains 25% of C, aluminium oxide contains 47.1% of oxygen and CO, contains 72.73% of oxygen.

Which law of chemical combination does this data illustrate and what is the ratio between Al and C by mass? /

Ygfifran srafss # 25% ¢, VGAfaw sifwigs & 47.1% SifRfeH iR co, & 72.73% SiTwie Sufya gar 81 98
ST IS TAeH & 5w fram &1 faaor svar @ ok sorae &1 =¥ @ A1 3R ¢ & &g &1 srqura w2

1. Law of Multiple proportion; Al : C = 1 : 3/ T[fOrd 3futd &1 fAT; Al: C=1:3

2. Law of Reciprocal proportion; Al : C = 1: 3 / JchH HJUId &1 9; Al: C=1:3
3. Law of Reciprocal proportion; Al : C=3:1/chH smaﬂﬁm, Al:C=3:1
4. Law of Constant composition; Al : C=3: 1 /T@R?raﬁrmﬁm; Al:C=3:1
Correct Answer :-

» Law of Reciprocal proportion; Al : C=3:1/YchH ﬁqﬂfﬂﬁqq, Al:C=3:1

25) Isomer of glucose which differs only in the configuration of hydroxyl group at Cy is called .

AP  FHTGYA! St Had C; W g 9g & A g giars,_ Fgamnrg!
1. Enantiomer / Ufdfdd 0T

2. Anomer / TATR

3. Epimer / TUIAR

4. Mesomer / HTdId

Correct Answer :-

e« Anomer /Q:hIIT

26) What is NOT true about condensation polymerization? /

T gga®- & fauy §f w9 g T8 82

1. The product of each step is again a bi-functional species. /
U TR BT IATG U: U fg-dwrafetes yenfa giar g |

2. Polycondensation reactions may result in the loss of some simple molecules as water and alcohol. /
I AHToHAT, T WIYR ST BT BT BT IRUTH 8 THT § - oI o, Teb il |

3. Condensation polymerization leads to the formation of low molecular mass polymers. /

TG 9gadH, Y 3nfigs goqd agas & Ui &1 SR8 8|

4. Polymerization generally involves a repetitive condensation reaction between two bi-functional monomers. /
TgAH | HI: & fg Friesd Uhad & oid GRTad! wu- s sfaf-ifgd gidt g1
Correct Answer :-

« Condensation polymerization leads to the formation of low molecular mass polymers. /

T sgae, g 3nfoass gom sgae & AT BT SR gk ||

27) What would be the mass of sulphuryl chloride (SO,Cl,) which contains 28.4gm of chlorine? /

TR FARTSS (SO, Cl,) BT FSH FT 1, R 28,471 Tt fAfga 82
1. 54 mg / 54 forefiumg

2. 54 gm/ 54 UH



3.67.5gm/67.5 U

4, 27gm /27 IH

Correct Answer :-
e 54 gm/54 UH

28) Why are polyphosphates used as water softening agents? /

UTIwIehe ST Jgavol 3ifiddl & U # I JaiT {5 &1d 52

1. Because they form soluble complexes with cationic species / i 9 Y=gt gofaal o A1y faea IRy a-rd %I
2. Because they form soluble complexes with anionic species / Fifeh 3 FHURE TeTfaa & 1y faorg aftry 991 8
3. Because they precipitate anionic species / i § BURIH FoTTordt Sfaaifid exd %I

4. Because they precipitate cationic species / Fifp I Y= TSTIfaat sraafid HRd g

Correct Answer :-

» Because they form soluble complexes with cationic species / Fifp I YT TeTfaat & Iy facrg aftry 991

29) An endothermic reaction X(g) + 2Y(g) = ZS(g) has attained equilibrium at a temperature T K. How can one increase the

amount of S formed? /

T SEATI SfUFaT X ) + 2V o) = 25 o) W ATTHM TK W ARATERAT U7 heit ¢ | FfHa s Y 7o Y & wgrar o
Thdl g2

1. By increasing the partial pressure of S./ S & 3fifIH qaTd o gglh}
2. By increasing the total pressure on the system. / JUTTeH TR P adld Eal delhr
3. By decreasing the total pressure on the system. / JUlTelt TR Pl qdld P! g

4. By decreasing the partial pressure of all the gases. / it 1 & 31ifrep gaTa B U

Correct Answer :-

» By increasing the total pressure on the system. / TUTTeH TR P qdld Eal gglh

30) Mn2* forms a complex with Br™ ion. The magnetic moment of the complex is 5.92 B.M. The probable formula and
geometry of the complex is: /

Br~ Gﬂ'd%a?'\‘ITQIMn”W'\‘If&HWﬁ'HfUTWT%I Ay BT IS ATYOE 5.92 B.M 8 | GfWY &1 YHTeT G Td
RICIGES

1. [MnBr4]2', trigonal bipyramidal / [MnBr4]2', ﬁ?‘lﬁl@ﬂtﬂﬁaﬂm
2. [MnBr4]2', square planar/ [MnBr4]2', fﬁﬂﬂﬁ?ﬁq

3. [MnBr4]2', tetrahedral / [MnBr4]2', a@,’mmﬂﬁu

4. [MnBr6]4', octahedral / [MnBr6]4', ACHAD Y

Correct Answer :-

. [MnBr4]2', tetrahedral / [MnBr4]2', w

31) How many electron exchanges are possible within the same subshell for the following electronic configuration? /



Frafafed sawie faarr & i aame Susiv ¥ feaq saeg g dwa g2
(1) 3d*4s? & (2)3d°4st

L()=6 (=10

2.(1)=8 (2)=12

3.(1)=9 (2)=8

4.1)=3 (2)=5

Correct Answer :-

« (1)=6 (2)=10

32) Molality of 20% w/w aqueous solution of X whose molecular weight is 50 is equal to: /

20% wiw 9T ST fada X , forgeT 3nfoae WR 50 §, B UTH-3Muradr 9P SRIaR §:
1.2.0m /2.0 A
2.5.0m/5.0Hd
3.4.0m /4.0 HId
4.2.5m /2.5 9@

Correct Answer :-

. 50m/50Hd

33) In a fcc lattice atom A occupies the corners of the cube and B occupies the face of the cube. If one of the B is missing
from the face centre, then the formula of the compound is: /

TS BAD Hisd U9 TS WHTY H A T F Il WR TG B T S Bad] W R Ad &1 IS HIS T B, bad S5 A
e 8, A A FT A E:

2.AB

4. AB,

Correct Answer :-

34) Arrange the following species in the decreasing order of their size. /
Frafafaa Suenfagl @1 3% PR F IR Ued HH A gafeyd H|
072, AI*3,Na*, F-

LA*3 >Na*t>F > 072

2.Na* >072>F >A*3

3.072> F~ > Nat > Al*3

4.072> Nat > APt > F

Correct Answer :-

e 02> F >Nat>AlI*3



35) Sodium ethoxide reacts with 2 chloro-2-methylpropane. The major product formed is: /
Tifsaw guTeaTss, 290R)-2-Afamis & ary ifufear et 81 A e-arer g1 3are §:
1. 2-ethoxyprop-1-ene / 2-3""4@@'5[-1-37{

2. 2-ethylprop-2-ene / Z-Qmﬂ?ﬁq—}s—rf

3. 2-methyl-2-ethoxy propane / Z-ﬂfﬂﬁ-}?‘m

4. 2-methylprop-1-ene / 2-%“—1-37{

Correct Answer :-

« 2-methylprop-1-ene / 2-HfITUY-1-349

36) Which of the following has atomic orbitals where both Hund’s rule and Pauli’s exclusion principle is violated? /
Frafafed faee & & frad 3 wuL S 8, o g8 & Faw iR st & sruast= Rigia, 341 &1 Seera- gam
e

[T L]

Tl ]

) [TL] [ Il

I Y A
LT[ ]

Correct Answer :-

w

Tl

37) Which one of the following statements is CORRECT regarding alcohol? /

Tedleld & N A Frefif@d d A s W syT aa 22

1. Aldehyde having a boiling point less than 100°C can be prepared by the oxidation of primary alcohol with acidic dichromate /

TS Veblald & 1Y 31T STShIAC P HTFRITHRU P GRT 100°C A HH HYFD del USRS qaR a1 off I g

2. No aldehyde can be prepared by the oxidation of primary alcohol with acidic KMnO, / 3 KMnO, & 1Y WWW

F SHTafiPRU1 & GRI Ps UCSEISS (IR ! [T St Gl |
3. Tertiary alcohols cannot be oxidized at all /Wﬂaﬂ%"maﬁ mm%ﬁﬁmml

4. Secondary alcohols on oxidation with PCC give carboxylic acids having lesser number of carbon atoms /W%qu

Ueoh BT BT ATRAPRU PR IR BIERAID 3 U 81l & o 3 TReAT a1t e TRATY B B
Correct Answer :-

« Aldehyde having a boiling point less than 100°C can be prepared by the oxidation of primary alcohol with acidic dichromate /

TP YehI8Ta & TTY AT STShIHC b SHTHTHRUI B gRT 100°C Y HH HYATD I UcSe3s daR 5T ol JhdT |

38) Which one of the following chemical reactions represents a redox reaction? /

o A @ o= @ Iamafae sififerar sraeau= sifufsraisiad sififrar) &1 fAefud sdt 82



2HBr + H,$0:= Br, - S0, + 2H,0
KCl+H,50.2 KHSO: + HCl
Mg(OH), + H,$0.= MgS0, ~ 2H,0

2PCl; + HyS0:~> 2POCI; + 2HC + SO:Cl,

Correct Answer :-

2HBr + H,50:= Br; + 50, + 2H,0

39) Fructose with ketone group also reduces Tollen’s reagent. The statement which justifies the property is: /
P GYE & Ty wae s M Sae & ufiiete $ Srafia % ¢a1 8 | 98 FY 39 VT $1 b §-71d7 8:
1. In presence of alkali, fructose undergoes tautomersation. / mar?reu@rﬁrﬁ Thaerl gagdad I [CEEISRG] %I

2. In presence of alkali, fructose undergoes reversible isomerization. / &‘ﬂ?ﬁ?@lﬁﬁ, Thae IS IchHATT JHIGIIT ﬁfﬁm
TeRATg |

3. In presence of alcohol, fructose forms B glycosidic linkage. / a?mﬁ%aarﬁwf@r%ﬁ, Eb_d?ﬁ\_ﬂ B Wﬁ%ﬂmmﬁw
FRAT B

4. In presence of alcohol, fructose forms a glycosidic linkage. / Wﬁa@@ﬁrﬁ, Q')_(Ej\_rf amﬁ%ﬁaﬂﬁﬁw
FAT G

Correct Answer :-

« In presence of alkali, fructose undergoes reversible isomerization. / &R P! JufRUfT ff, eIl SchH-1g JATGIaT I Eﬁﬁ
ToRAT ]

40) A sample of drinking water was found to be badly contaminated with a carcinogenic organic substance to the extent of
30ppm by mass. How will you express it in percentage by mass? /

Ve & TP A B! FSTHAM & STYR TR 30ppm T B JHT 95 -aoiT BT -1 ggrd gRT gt avg A gira urn
T 31T 39 FqH $ TR TR yfawrd # $J oaad H91?

1.30x 10° %
2.30x10° %
3.3x107° %

4.3x107% 9%

Correct Answer :-

e 3x10739%

41) (+) glucose and (-) fructose can be differentiated by: /

(+) DI TG (-) ae o B P gRT faRfea foar s aaar g1
1. Bromine water / STHI Sfd

2. Benedict’s reagent / SAfgae 3iftrere

3. Tollen’s reagent / A S HE

4. Fehling’s reagent / IR SifipHS



Correct Answer :-

« Bromine water / STHIF Sfdl

42) \hich of the following statements are correct for atomic weight?
(i} Property of an atom determined without experimental data
(i1} Facilitated Mendeleev to develop periodic table
(iii} Helped in developing chemical formulas
(iv) It can be exactly used instead of relative atomic mass

| TATT AR & fordr forafeli@d # @ &l o F9a T &
(i) T SRIENTAT ol & IRAC] & APRE A Rer
(ii) 3T RO &1 FRia w3 & v disele w1 weer ged g
(iii) TETIfE TF I 7 FAqg qIed 537
(iv) |97 WACLHG &I 916 S86T T U §9 § fHar S |t &
1. (i) and (iv) / (if) 3R (iv)
2. (i) and (iii) / (i) 3R (iii)
3. (i) and (iif) / (i) 3R (iii)
4. (i) and (iv) / (i) 3R (iv)
Correct Answer :-
« (ii) and (iii) / (ii) 3R (iii)

43) The oxidation of hydrogen by oxygenis one of the most-used reactionsin fuel-celltechnology. The
overallreaction which is given as 2H;(g) + Oz{g) = 2H,0(l) has a AG° value of —474 kl/mol. What is the

standard cell potential for this fuel cell? /
HTeriTaTel GaRT GISslalel & Hiaw e oT Seel Jol GiaITeehT 7 wasd e I9er & arr
ST el FATGIBT 7 & TF §1 2H(g) + 0u(g) > 2H,0() FaRT T80T THIT HiATHAT &1 Th
MG HIA -474 Tdheiliel/ Aok 50 Su= del & folv e Jer fasradr &=4r g2

1.1.23V/ 1.23 dIeC

2.2.46V/ 2.46 AT

3.3.67V/3.67 AT

4,474V /474 AT

Correct Answer :-

. 1.23V/1.23dleC



A student performed a series of tests to distinguish between hard and soft water and recorded her
observations as given in the table. /

U B o HoR IR Ag A F o AR TIC Sl & fold U olid Al S &2 fohar
3R 379er YT RS fad, Star & arelr 7 f&zm awr 2

Sample / Mixture / TFBOT Quantity of lather formed / =T
RIRGE ST &7 AET
B Hard water + soap /
FER ST+
Q Soft water + soap / Hg,
STl + HIge
R Hard water + detergent /
FON el + HTAToNH
] Soft water + detergent /
g, el + ATARTS

In which sample would she have observed minimum lather? /
fore ofdexr § 8= Fa8 &/ 9T fard $1 gl

1.R

2.P

3.5

4.Q

Correct Answer :-

45) A gaseous mixture contains Py and Qg If the vapour density of Py is 6 times that of Qs and the molar mass of Py

is M. then what is the molar mass of Qy? /
e b s & Py, U Q [ATRd &1 A Py, T 915U BeAcd, Q &I 6 T & Ud Py T U ALM &,
dr Qg T [ X FAT GRM?

1.0333M

2.0.501 M

3.0.167M

4.0.750 M

Correct Answer :-
e 0.167TM

46) What is the anion formed by aluminium metal when itis reacted with NaOH;y and which gas is formed

during the reaction?/
TAfAETH 91 ga AT TEE T G, 9 NaOH e & W7 SET AT &
St &, 3R sfEfar & e wtF @ dw BET §dr &

1. [ AI(OH)¢*~, H,
2. [ AI(OH)5]*~, H,0

3. [ AI(OH);], O,



4. [ AI(OH),]™, H,

Correct Answer :-
e [AI(OH)4] , H,

47) Using the given data, arrange the following species in the increasing order of their reducing power in

aqueous medinm. |

feT 1w 327 1 37T IR gU. At @a Gifaal 6T Selldr AT & 3ol 3IaRE

&HAT & dod HH 7 cgaidd i
Fel*, Br-. Al
(%5t =077V El% %/ a,=-1.66V E'py /25~ =+1.08V)

1, Al< Br<Fe?*
5. Br<Fe¥ <Al
3. Al < Fe*< Br-

4. Fe*<Al <Br

Correct Answer :-
Br=Fei* < Al

48) The given reaction suggests that methanolis: /

&1 a5 HAfafEar gend § o At
2CH;OH + 2Na ——p» CH;ONa + H;

1. Amphoteric/B’WﬂﬁfEﬁﬂT%l

2. Neutral / ST T 81

3. Acidic in nature / THTd § ST BIaT 5|
4. Basic in nature / SGHTd 7 &RIT g1 3|

Correct Answer :-

« Acidic in nature / T@HTd H W@W%I

49) The value of K, for a given reaction 2R = P+Qis 3 x 10—*_ Ata given instant of time the composition of

the mixture is [R] =[P] = [Q] =9 x 10°M. Predict the direction in which the reaction would proceed. /
Zr et ARG 2R > P+ Q& AT K& A 3x 10~ &1 dowledl 98T & foiw f&Hsmor fr
1 [R] =[P]=[Q] =9x 1M &1 feem & wnrfera &3, forwe affarisan mdr aat

1. Reaction would cease. / 3IfHTehaT FHT BT ST |

2. Reaction will proceed in the reverse direction. / Sffiferar Iect fe=m & Sm EI%_TﬁI

3. Reaction will proceed in the forward direction. / SfYfopan 3t &1 fg=m & G%Tﬁl

4. Reaction will be at equilibrium. / 3TNfRT ATRITGRIT TR gHTTI

Correct Answer :-

» Reaction will proceed in the reverse direction. / Sffepar Iect fe=m & st aé_ il



50) Activation energy for decomposition of HI is equal to 209.5 kJ/mol at 581K. If the fraction of molecules having
energy equal to or greater than activation energy is log x, then its value is equal to: /

581F R TR HI & g B Afbaur SHutt 209.5 fraisa/amsen] & sRTeR gidl 81 afe aftraur ol & swRraw an
I 3 et aTd Sv] BT =T AT x B, 99 SHDT A 41 &b RIaR gH:

1.-45.1
2.38.38
3.23.2

4.-18.8

Correct Answer :-

e -18.8

Topic:- Agriculture

1) In biological control of weed, the bioagent must: /

WRUAAR & A3 =01 8, 519 $RS 31 7 7oR 31 841 a1fe¢:

1. be free of predators only / SHad WRyferal 9 Had &l

2. possess reproductive capacity only / HIA UoT &l gad &l

3. all of the above / SURIGA Tt

4. kill or just affect only one host / ARA 1 ddd U fﬁ? &I UHIfId HA arer Epf |

Correct Answer :-

« all of the above / STRIG T |

2) What is the seed rate required for cultivation of 1ha Bellary Onion? /

TP TR JeaR] WISl B At & T aifdd fie R g2
1. 15 kg /15 fopalt

2. 1kg/ 1 forelt

3. 5kg/ 5 fopal

4. 10 kg / 10 far

Correct Answer :-

« 10kg/ 10 foar

3) An implement used for opening and loosening of the soil is known as: /

e &1 Teq 3R dar w34 F e gwaTa far 9= arar Susor Hegaa gl

1. Harrow / %@f

2. Hoe / FaTd (8))
3. Plough / THHI® (W35)
4. Cultivar / HESIISI (Feciar)

Correct Answer :-

« Plough / GHG® (W)



4) The instrument used to measure the speed of wind is called .

TAT B A B A F U A PTTA TR IUSOI A BT B
1. Thermometer / YHIHIER

2. Barometer / SRIHIER

3. Ritcher scale / R Whel

4. Anemometer / Q:ilq e
Correct Answer :-

¢ Anemometer / Q-‘-ﬁﬁlﬁa

5) The arrangement of primary soil particles and their aggregates into a certain defined pattern is called as ./

4T gar & Hui &1 fa=mw ik ue fAif¥a ufuife de o 37t wwsran Fgard! gl

1. None of the above / STRIGd | ¥ P13 gl
2. Structure / AT
3. Texture / §-[dC

4. Aggregate / JHYI

Correct Answer :-

o Structure / G

6) The ‘Sawai chal’ is the particular character of breed. /

FEE A e ol ke qurdar 21
1. Amritmahal / 3{HdHg

2. Tharparker / YRATHR

3. Gir/ R

4. Kankrej / CETS

Correct Answer :-

» Kankrej / Pl

7) The microorganisms involved in soil granulation are: /
e Y ST TR & i geeha e e &

1. Moles / B

2. Fungi / ddh

3. Ants /e

4. Earthworms W

Correct Answer :-

 Earthworms @ﬂq



8) How much portion of fruit juice is necessary in jam making? /
H T H Bd & T BT fHa-1 HRT STaRas gidT 82

1. 45%

2.30%

3.35%

4. 40%

Correct Answer :-

e 45%

9) The soil texture refers to the relative proportions of sand, and clay. /

St diaameya, ok faeit gl (@) & amder srgura & g=ifedt 31
1. soil / &l
2. silt/TIq
3. rock / ¥

4, stones / U

Correct Answer :-

o silt/ TG

10) The study of the term ‘agriculture’ comprises of: /

TTeg P & regg A e §:

1. Only livestock farming / Pad ERICINE] @W\W Wlﬁfrl)
2. Only fisheries / FHad A gTe

3. Only crop production / P dc il I

4. All of the above / SUgad THt

Correct Answer :-

o All of the above / G'Cl?iaﬂ it

11) National Academy of Agricultural Research Management is located at : /

M PP ST T ST (YHTE TheH it wifieeaRe R AReie) g wER # @ #:
1. New Delhi / 77§ faeett

2. Nagpur / FTYR
3. Hyderabad / %3? dlq
4. Bhopal / T

Correct Answer :-

e Hyderabad / %3? diq

12) The instrument used for measuring relative humidity is:/



TTUfére SMeaT &1 JTU & e swauTe fovar T 91e= §:
1. Thermometer / YHIHICR

2. Pyranometer / tn@:ﬁtﬂa

3. Barometer / SRR

4. Hygrometer / § 39 iR
Correct Answer :-

» Hygrometer /@ 3‘5] diex

13) is the art of developing the plant or training the plant into different forms or shapes like animals, birds,
arches, etc. The plant should be amenable for repeated pruning and also flexible with more vegetative growth. /

WY o1 e Rd w71 uid oY ugei, ufar, Aevre sanfe & St Snefd e S 9 $ar 81 MY IR-IR
TeTs & fore wew gt g1 =i aut siftres amwufas gfg & wry v off g =nfeul

1. Avenue / A

2. Arboretum / q&‘h@ﬂ:{

3. Topiary / 3T UHIYUT
4. Trophy / E:II'CF?[

Correct Answer :-

« Topiary / I UHTYA

14) The major problem of drip irrigation systemis___ ./
uREE v FtygEamer . R

1. clogging / SARIY

2. flooding / dTg

3. drying / [&h

4. clodding / @@T ST

Correct Answer :-

e clogging / SR

15) The most deficient primary nutrient element in Indian soils is: /

YR gerait # Tad HH UTar 9H a1a yrd e uive 9 @
1. Copper/?‘l'i_@ﬂ

2. Boron / IR

3. Carbon / HTE

4. Nitrogen /'Tl’{@ﬁq

Correct Answer :-

 Nitrogen /’TIE@GF‘T

16) A tensiometer is used to measure: /



ggaTaHTdt (fRraHieR) ®1 IuaT A & |1 & forg foar siran 8:
1. Infiltration rate / RE@ &R

2. Soil water potential / Hal STl &HT

3. Hydraulic conducﬁvity/mﬁ“lﬁw

4. Osmosis / URTIRTT

Correct Answer :-

« Soil water potential / T cl STeT &HdT

17) The quality of soil depends on the ./

g eliuEar_ wimkad gl

1. Physical properties only | Had meﬁw

2. Chemical properties only /WW‘IUTEITITW
3. All of the above / JTRIGd Tt

4. Biological properties onIy/Waﬁa?‘IUTﬂﬁqu

Correct Answer :-

« Al of the above / JURIad Tt

18) The main function of water in plants is: /

Trel | o 31 gt e A g B

1. Temperature stabilization only / Had dgAM RIS

2. All of the above / ITRIGd Tt

3. Maintaining turgidity and structure only /WWQEWWW
4. Transport of nutrients only / Had U ddl BT gRagd

Correct Answer :-

« Al of the above / JURTad gt

19) Rocks formed by cooling of the molten materials (magma) is known as: /
fraelt 5T Al @ & Ss1 819 A Fiftfa Sl @) fore = & S ST @
1. Igneous rocks only / Fad MY A

2. Sedimentary rocks only / Had G'W'I_Cﬁ%

3. All of the above / JTRIET Tt

4. Metamorphic rocks only /WW%

Correct Answer :-

« Igneous rocks only / Fad MY A

20) 'One man, One Vote' is the principle of which of the following? /

T A, T dte il & & fewer Risia 82



1. JSC / Swadt
2. Cooperation / BREAIRG]
3. Crop insurance / HOd ST

4. Individual business / ol TaU™

Correct Answer :-

» Cooperation / Wﬂ?ﬂ

21) Which of following year was declared as ‘The International Year of Soils’? /
Pr=ifa & @ R a6 ot iRt a1 ad W fowar am

1. 2018

2. 2013

3. 2017

4. 2015

Correct Answer :-
e 2015

22) Which of the following is a chemical fertilizer? /

Frefafas & @ o1 a1 e sds 32
1. None of the above /ﬁﬁ@#ﬁ

2. Single super phosphate /WWW
3. Farm yard manure / $TS &3 &1 @1G

4. Vermicompost | eI

Correct Answer :-

 Single super phosphate /WWW

23) In_____irrigation, water is applied directly to the root zone. /
_ R ¥, are e ge & § vgEmr S 2|

1. surface / dg!

2. mister / fBReR

3. sprinkler | RBieER

4. drip/%'q

Correct Answer :-

. drip/TSU

24) The development of more than one embryo in the seed is known as: /
&9 ¥ v @ 3if¥res Yyt faws R 811 wgamar 8:
1. Chimera / faEF Sd®



2. Polyembryony / IgH{UTdl
3. Apomixis / SIS

4. Callus /37_01?

Correct Answer :-

 Polyembryony / SgY{UIdl

25) For successful intercropping, the difference in maturity of component crops should be atleast  days. /
HHd 3R BHA P [, oo Bl o uRuSTdl § $9 9 H fe 1 ofa” g TR

1. 30

2.20

3.35

4. 40

Correct Answer :-

26) For long-term storage of eggs, it should be stored at temperature. /

3el & w1 Huaa & i, 55 AU TR 3T ST 91e|

2

SCto235°C/215°CU23SC

ot

1.

2

‘Cto155°C J 125°CH15.5°C

wh

2.1
3. 17.5C©019.5C / 17.5CH 195°C

4, 10°C / 10°C

Correct Answer :-

10°c / 10°C

27) Tillage is difficultin _____ type of soil. /
__ YOR @ Yar d A B g ¢
1. loam / @H

2. silty / dABC

3. none of the above / SURIGA H aﬁ‘s‘ el

4. clay / ICCail &I?}T

Correct Answer :-

. clay/f%fa’)_"ﬁﬁ@

28) CO, from decomposing organic matter dissolves in water to form: /

q"es faw uerd & fFrees ardl co, 5a # gas e o1 fmfor st 8:

1. Citric acid only / Had W AR
2. Oxalic acid only / a3 3ra



3. All of the above / STad Tt
4. Carbonic acid only / I BIENDH T

Correct Answer :-

e Carbonic acid only / FId BIEIID T

29) Depending on the quantity of nutrients present in plants, they can be grouped into: /
Tef #f IRy diust &t arn wR AR #3d gu, 3 fe o afed ey srawa &

1. Only micro / Had Y&H

2. Only macro / PHad ded

3. Only basic / Had Hel

4. All of the above / SURTSRT THT

Correct Answer :-

« All of the above / IR gt

30) NABARD came into existence on ./
ders | #eifsaa o smami

1. 12 July, 1982 / 12 TS, 1982

2. 15 May, 1981/ 15 s, 1981

3. 17 Jan, 1979 / 17 SIFaRY, 1979

4.1 April, 1972/ 1 314, 1972

Correct Answer :-
e 12 July, 1982/ 12 T{Kﬂ% 1982

31) Jowarhas ____ root system. /
R & CGEERIGIE]

1. All of the above / SURIeT FHY

2. only brace / Had ﬂﬁaﬁw (ST9)

3. only adventitious and fibrous / Hael U (VZAFTTY) Td dqge (BISS)
4. only tap / AT TR (2T)

Correct Answer :-

« only adventitious and fibrous / HId HTRITAS (TA<Y) Td dqgerd (BTIsid)

32) The common name of Cyprus rotundus is: /
TISYH FIcSwHT M= 9 §:

1. Johnson grass | S T

2. Nut grass / ¢ YT

3. Bermuda grass /aﬁaw



4. Barnyard grass / TEATS I

Correct Answer :-

o Nut grass / ¢ YT

33) The vegetative lag phase is also known as: /

g UxEdT a1 @R fea & o) @) e & =u  off ST S @:
1. None of the above /mf{@ﬁ:ﬁﬁ

2. Photoperiod-insensitive only/ &Had Hic W-H@ﬁlﬁ

3. Photoperiod-sensitive only / dd Hicl fikTs-TRea

4. Both options A and B /fawea T SR & ?ﬁ:ﬁ

Correct Answer :-

« Photoperiod-sensitive only / ®ad ®ic! Tikas-ARea

34) The vegetative lag phase is absentin ____ rice./
I SR =ROT_ |Tad A SuiRud giar gl
1. short duration / €Y 3{afe arel

2. long duration / a"if 3afy ard

3. medium duration / AW 3fafe aTct

4. none of the above / SUGd H T aﬁ's“ :lé)[

Correct Answer :-
« short duration / €Y 3{afe arel

35) The practice of ploughing or turning of undecomposed green plant tissues into the soil is called_ ./
IUIRA RN N F Faw I P s AT 5= MG Avae A ufbar_ wgamdi 3|

1. Composting / gIfd @ (aﬂrﬁ%'rl)

2. Humification / Eﬁ'm

3. Green manuring / Bﬁ dlq ('/ﬁ'_‘T fﬁlﬁ‘T)

4. Decomposition / 3{UYUC (%H'T‘ﬂm

Correct Answer :-

 Green manuring / g @i @i ﬁﬂlﬁ"T)

36) The percentage of free fatty acid (as oleic acid) in special grade ghee should be not more than: /
fafdree A5 aret oY ® goa axfta on (siielie o & w0 ®) &1 ufawra e A siftres 81 8= @nfeu:
1.44

2. 14

3.34

4.24



Correct Answer :-

37) The term ‘horticulture’ is derived from which of the following language? /
g gidfPpeae 38 A f5g W @ o= 32

1. American / 3R

2. Russian / &4

3. Latin / Qe

4. Greek / b

Correct Answer :-

o Latin/ é c

38) The part of a plant known as the ‘food factory’ is called: /
Ppehar FEUANITICS fowT,_ Feamarg!
1. Flower / (odl

2. Root / SIS

3. Leaf / Uil

4. Fruit/ d

Correct Answer :-

o Leaf/ Tl

39) The removal of the top of the shoot with a view to stimulate the lateral growth is referred as: /

T IS P ST FA F R T RFUF AU R F I B geAT S &y H Hehia fmar smar g1
1. Topping / et

2. Notching / AT

3. Girdling / ST

4. Bending / af&T

Correct Answer :-

o Topping /< Ut

40) The low analysis fertilizers contain less than____ of primary nutrients. /
A fiur et sl & & +9 urdfie tiue ue ora 7

1. 50%

2.30%

3. 40%

4. 60%

Correct Answer :-



41) The optimum range of soil moisture for effective ploughingis___ ./
TUT TS F 1T a1 Y sk &Y srgperaw W gl

1. 20-30%

2. 50-60%

3. 60-80%

4. 25-50%

Correct Answer :-
o 25-50%

42) The botanical name of Okra is: /

Ao Qi) Frawfasam . 8l
1. Coriandrum sativum / WW

2. Daucus carota / ST3HT T

3. Abelmoschus esculentus / QTG FWZ’W
4. Solanum tuberosum / WW

Correct Answer :-

o Abelmoschus esculentus / HQHTH UWE’W

43) The scientific name of Arhar is: /

3RER BT AFP AH &:

1. Cicer arietinum / @@?’\3/7%177?77

2. Cajanus cajan / FoTT ForT

3. Triticum aestivum / @?W@@W

4. Saccharum officinarum / JbeT SipiRAvE

Correct Answer :-

o Cajanus cajan / FoTT ForT

44) The scientific/botanical name of soybean is: /

WA o1 a9 /amefa® T §:
1. Oryzae sativa / 3/??73'???37?57

2. Cajanus cajan / FRTH FoTT

3. Glycine max / Wg@?ﬁw

4. Sorghum bicolar / TR FIZHT

Correct Answer :-

e Glycine max/ TSI Jerg



45) The square method of planting is usedin ______ crop. /
qeRIor #t arfeR fafd B H 39ATS STl g
1. watermelon / XS

2. mango / 3{TH

3. strawberry / Ejaﬁ

4. grape / GFI{

Correct Answer :-

» mango / 3TH

46) The weeds which complete their life cycle in two years are known as: /

Ao F UM T TP W HFA TR TRUGIR,  FAH AT Al 21
1. None of the above / SURIGd & I ﬁé :lgT

2. Perennial weeds / SgaYTg WRUAIR

3. Biennial weeds / @aﬁﬁmﬂ

4. Annual weeds / THa¥I TRUTAR

Correct Answer :-

« Biennial weeds / fgaufd TRUIIR

47) The cutting of weed to the ground level is known as: /
WUMAR P YA F TR ABEAT_ dgadiel

1. None of the above /mﬁ@ﬁﬁ

2. Digging / E;?lg (%&ITD

3. Cutting / TS (HfeT)

4. Mowing / T’lﬂ'lé: (IHGE"'D

Correct Answer :-

* Mowing/ ?Ia'lg CIcEN))

48) The most resistant crop to water logging is: /
oTd HR1d & forg W aifres wferi<ft vt &:
1. Rice / dTdc]

2. Sugarcane / TT=[

3. Turmeric / m

4. Wheat / ﬁE

Correct Answer :-

e Rice/dldd

49) The absolute temperature is measured in ./



WAGY WA HUISEr gl
1. °F
2.°C
3.°K

4. None of the above / SURIad H I aﬂé :|_Eﬁ

Correct Answer :-

50) The ginning percent in cotton is: /
HUN T ¥% 3fe 1 Ui = giar s:
1. 62-70%

2. 24-38%

3. 39-50%

4. 50-62%

Correct Answer :-
o 24-38%

51) The national flower of India is ./

YRABIIAEA A Rl
1. Lotus / PHI

2. Jasmine / lﬂim

3. Crossandra / 3raelt

4. Rose / 1[dITd

Correct Answer :-

e Lotus / PHI

52) The ratio of carbon to nitrogen in the arable soils commonly ranges from: /
PN g gerait & BT BT ATge o A SUTd &1 W1 9= &9 F e gt 3:
1. 50:1 to 100:1 /50:1 & 100:1

2.4:1t09:1/4:199:1

3.8:1t015:1/8:1915:1

4.20:1 to 30:1/20:1 ¥ 30:1

Correct Answer :-
e 8:1to15:1/8:1915:1

53) ‘Training’ includes which one of the following operations? /

gfreror & fr=fifaa 8 @ o4 a1 orf i giar 2



1. Only propping / &Had YR AT
2. Only tying / &Had SiEET

3. Only supporting / Pad TgRI T
4. All of the above / JURIET Tt

Correct Answer :-

« All of the above / SURIGT TH

54) Sesquioxides act as a cementing agent made up of: /
HHfeT Tole & wu A o1 T+ I @ lsiiqargs A 4 T gd 8
1. Sand and silt /iﬁ@"ﬂ?

2. Iron and aluminum oxides / ?“h@T Td Q?{Pﬂﬁm 311“?:1%133
3. Magnesium and potassium / REH od qrefRmm
4. Calcium and hydrogen / PRy TdB $§;|GI'_‘|

Correct Answer :-

e Iron and aluminum oxides / T’ﬁBT Td Q?{Pﬂﬁzﬁq H\mﬁg

55) Name the compost prepared using earthworms? /

P3N & ITANT A F9T3 o qTelt HHIRE P71 A1 FA130?
1. Solid waste compost / 33Ul HHRe

2. Vermi compost / gf e

3. Rural compost / o HIORe

4. Urban compost / I HRE

Correct Answer :-

e Vermi compost / gl e

56) T.S.S. of papaya jamis ./
TfAFIHTRELE. gl
1. 68.5%

2.70.5%

3. 78.5%

4. 65%

Correct Answer :-

e 68.5%

57) Balanagar is a variety of .
AR 31 TP 31

1. Pineapple / AT~1T1H



2. Custard apple / R g
3. Guava / 3[H¥q
4. Sapota / Eﬁ@z_

Correct Answer :-

o Custard apple / ¥ g

58) Who gave the "Weende method of feed analysis'? /
9 9 foram T faervor Y dYe faftr o1 wfrure= fasar
1. Robert Bakewell only / B TS qHAT

2. Hennberg only / FHad %:Wﬁ

3. Both Stohman and Hennberg / @?ﬁ:{ 3R %:erfa:h

4. Stohman only / W@@T‘T

Correct Answer :-

» Both Stohman and Hennberg / ¥l H GhT 6“‘1@‘?3 '_-|

59) Rural cooperative credit societies in India were organized based on the model. /

HRd # grtor W Rt wor afifad #1117 Hisd P YR TR g mar |
1. Raiffeisen / IAHTEA

2. Mehta / gl

3. Acharya / 3TaR]

4. Single Window / U dl @Gﬁ

Correct Answer :-

« Raiffeisen / TAHIET

60) What is the range of soil pH? /
a1 ¥ p 2 Yot Rt @ 22

1. 0-10

2. 0-50

3.0-14

4. 0-20

Correct Answer :-

.« 0-14

61) Insects are included in the phylum ./
Pl a1 Y H T AT gl
1. Annelida / Qa NS

2. Arthopoda / 3T JfarsT


https://en.wikipedia.org/wiki/Robert_Bakewell_(agriculturalist)

3. Chordata / @ISl
4. Nematoda / HTCIS

Correct Answer :-

» Arthopoda / 3fars

62) How is fertilizer quality controlled in India? /

YRA § IdRP 3 Turaet &1 F& Frafa frar srar g2

1. Fertilizer Control Order / Wﬁﬁw F@T“T 3TST

2. Fertilizer Consumer Association / BfCaATgoR PG THIRERH

3. Fertilizer Manufacturer Association / t{?—%ﬂw ﬁ'ﬁﬁav Q@W
4. Fertilizer Seller Association / TfETTIOR YeR THIRTTRH

Correct Answer :-

o Fertilizer Control Order / tb—ﬁ?ﬂgﬁl? Eh_;ﬁ?[ 3R

63) Water infiltration is more rapid in which of the following soils? /

fr=forfea & & fra e % urit o1 frama siftre aoh 9 gtar 82
1. Sandy soils / s et

2. Loamy soils / GHe firg}

3. Silty soils / @I fAgt

4. Clay soils / fora=it flrgt

Correct Answer :-

 Sandy soils /ag's‘ﬁ?r

64) Groundnut faces a serious problem of aflatoxin which is caused by: /
TTwelt # 1 arelt 7R HRT, TrTe R #1 R §:

1. Sclerotia / wreviear

2. Aspergillus flavous / TS Faay

3. Pseudomonas / @3?@?77?7

4. Colletotrichum / WWE’?W

Correct Answer :-

o Aspergillus flavous / ol FAaT

65) Chilly belongs to the family of ./
i duferaw&ER@ el

1. Malvaceae / T3]

2. Umbelliferae / SHEGAGBN]

3. Solanaceae / FlA7e



4. Cruciferae / W

Correct Answer :-

. Solanaceae/?-ﬁﬁ#?ﬁ

66) Which of the following are shapes of soil structure? /
frafifad # & $19 ger va 31 arepfa 22

1. Only prismatic / FHad T

2. Only platy / FHad tIEﬁTCT

3. Only blocky / HId WSHI

4. All of the above / SURTGRT i

Correct Answer :-

« All of the above / SURIGT TH

67) Which of the following is the oldest method of feeding the chicks, broilers and layers? /
et & & e, staed 9 da™f & wRor 3t Taifre uri= faft s <5 82

1. Grain and mash feeding / 3ol Td aferar wRur

2. Whole grain feeding / ITgd TS HUT

3. All mash feeding / EE Eferdn RO

4. Crumbs/pallet feeding / YT T H AT HIUT

Correct Answer :-
» Whole grain feeding / HIgd 3Tl HUT

68) Which of the following is the first fertilizer produced in India? /
fFrfafad & 3 o1 Ot wra A Sanfed gl sde 72

1. Single super phosphate / i@ g Bithe

2. Urea/ W

3. NH:Cl / NHCl
4, NH:NO; / NHLNO;

Correct Answer :-

« Single super phosphate / T WW

69) Which of the following is NOT a mechanical method of insect control? /
ic forim $t Fafafea § @ o1 @ aite ifrad 32

1. High frequency radio (RF) waves / 3=d &ﬂﬂﬁf CISIRUEE (3IRUM) R

2. Collar around the plants / et & IRY 3R EEISNIEI

3. Light traps / eohl ST (SRS E'GFD
4. Trenches around fields / Wl & TARI 3R @T‘ic



Correct Answer :-

» High frequency radio (RF) waves / 3= 311?{[% CISIRUER) (3RU) GRS

70) Which of the following is NOT a weather element? /
feAffead I W ge fa ST es T8 82

1. Precipitation / SIcR]

2. Wind movement / Ud+ eI

3. Cloud / dTqdl

4. Water / SIcT

Correct Answer :-

o Water / ST

71) Which of the following is NOT a physical method of preservation? /
frrfafEa & & @ d@eeor ot Wifos fafy T8t 32

1. Dehydration / EENIERUI

2. Refrigeration / PRIGE]

3. Pasteurization / W

4. Fermentation / fpUad

Correct Answer :-

« Fermentation / fdoUa

72) Which of the following is NOT a viral disease? /
fr=ferfea & & 219 a1 faurgeaa I T8 32

1. Marek’s disease / B T I

2. Ranikhet / Y

3. Gumboro disease / T@ﬁ T

4. Coccidiosis / BIFITTSTT

Correct Answer :-

« Coccidiosis / iaatTSTar

73) Which of the following nutrient imparts disease resistance to crops? /
frafafed & 9 o1 91 Wive aa Budl S I & TS ST & UG Sl 82
1.H

2.C1

3.N

4. K

Correct Answer :-



74) Which of the following soil has the maximum nutrient holding capacity? /

frefafaa & @ f5a gor & vive uror e siftreaw gt 82
1. Sandy soil / Sqs fHret

2. Saline soil / QUMY gt

3. Clay soil / Frepi1 firgt

4. Acid soil / 3y fAreY

Correct Answer :-

« Clay soil / =il flrg}

75) Which of the following soil is more fertile? /
fFr=fefEa & & w19 @ gar it Iuwrss gt 82
1. Sandy soil/a@é ﬁé

2. Heavy textured / URY TR Tt

3. None of the above / _EFTEI I aﬁ‘s“ :igjf

4. Light textured / §eeb| 1 dTelt

Correct Answer :-

» Heavy textured / YRY TR arat

76) Which of the following is a neutral fertilizer? /
frAfafed 4 4 19 91 7@ SR Sde 32

1. NH,CI

2. NH,NO;
3. CAN

4. (NH,),S0;

Correct Answer :-

« CAN

77) Which of the following is a ‘root vegetable’? /
frafifad # 4 919 91 Te e aRRfd arqa be 22
1. sweet potato / B CRCTA

2. onion / WIS

3. globe artichoke / E'T?ﬂ g

4. potato / 3T

Correct Answer :-

« sweet potato / HIDHG



78) Which of the following are the primary soil particles? /
frefafEa & @ 919 mufe gerd su g?

1. Rock, mineral, stone / &I, Eﬁﬁ, TR

2. Rock, stone, gravel / IS, URR, _GI\—ﬂéT

3. Clay, silt, sand / ﬁlﬁm@, W,iﬁ

4. Stone, gravel, mineral / U®R, a\_ﬂg){, EGIEIC ]

Correct Answer :-

e Clay, silt, sand / ﬁlﬁﬁ@of, Wﬁﬁ

79) Which of following is an example of tree? /

Frefafaa & @ w19 a1 fawe s &1 3emru 32
1. Acalypha / Q%‘%TCFI

2. Acacia auriculiformis / F@ﬁ?ﬁ \?/?W

3. Adenocalymma allicea / @WU@?]@W

4. Althaea rosea (Hollyhock) / ef} 357 (81cfigias)

Correct Answer :-

* Acacia auriculiformis / oI Wﬁ%

80) Which nutrients are immobile in plants? /

Wl P14 F Nive RR (FAHEE) 3 82
1. B only / dd B

2. Ca only / $dd Ca

3. P only / Had P

4. Both Caand B/ Ca diI B Eﬁ:ﬁ

Correct Answer :-
e BothCaand B/CaddIB 3 =t

81) Which Prime Minister launched India's first television dedicated to farmers, DD Kisan? /
5 gy 7 WRa & frul & forg st ugd 3, SISt feam #1 ey fvam ume
1. Manmohan Singh / e Rig

2. V.P. Singh / d1 4t g

3. H.D. Devegowda / Qﬁ@f aa"ﬁGT

4. Narendra Modi / % AT

Correct Answer :-

« Narendra Modi / 5 Gl



Late blight of potato is caused by ./

g FIfcfaasivh . FeRugardl
1. Alternaria solani / 3eeTIYT G

2. Phytopthora infestans / BIZCIRRT 30T

3. Aspergillus flavous / FWW FIGT

4. Sclerotium spp / TNNeTH &

Correct Answer :-

o Phytopthora infestans / BIZCIRINT 3T

83) Succulent roughages contain about __ of moisture. /
ReRaRFTT_ TR R

1. 25-30%

2. 30-55%

3. 60-90%

4. 10-25%

Correct Answer :-
e 60-90%

84) is as an apex organization of marketing cooperatives for agricultural produce in India. /
YRd ¥ S Iae F e fauve geer aftfaal @1 v i @rea 21

1. TRIFED / T35S

2. RAIFED / J0%S

3. NAFED / 758

4. MARKFED / HThth S

Correct Answer :-

« NAFED /"%8

85) is a physical condition of the soil resulting from the tillage. /

oo o fRufa & ot i ard & aiomrae g gt 81
1. None of the above / SURIST & J HIg gl

2. Tilth / ey

3. Soil structure / FG&T AT

4. Soil texture / {al d-IdC

Correct Answer :-

o Tilth /e

86) is known as King of spices. /



! OTdl & el & Y § SHT |Jrar g |
1. Cardamom / ST

2. Black pepper / el ot

3. Turmeric / el

4. Cinnamon / GTEAIA!

Correct Answer :-

» Black pepper/ AN

87) soils in India are formed in depressions under submerged condition. /

_ TE uRd A saw fRAfa & i sl & fAffa gkt 31
1. Tarai / TRT8

2. Peaty and marshy / GAG! U4 ®IaSgdd

3. Alluvial / STl

4. Red /AT

Correct Answer :-

o Peaty and marshy / GCIq< @W

88) is the artificial application of water into soil to supplement rainfall for crop production. /

A P IdTe & fT I Re auf 8g U & $hw a8te A e mn ww gar 21
1. Trrigation / TS

2. None of the above / JURIGd & ¥ Bl ol

3. Drainage / STAI-TIT

4. Feeding / Yo

Correct Answer :-

 Irrigation / ﬁﬁﬂé

89) is a non-climacteric fruit crop. /

TP A-Fagiee e bal 1 pad g
1. Tomato / CHICX
2. Grape / 3R

3. Sapota / Eﬁf
4. Banana / &l

Correct Answer :-

+ Grape / 3R

90) are plants with woody stems which are smaller than trees but bigger than herbaceous plants. /

____ 3PS dA Ol N g @ St gaif 9 Bi Afe wrety ueu A 98 g 7



1. Bdge / f 1
2. Hedge / TS

3. Climbers / eﬂﬁ'sﬁaam
4. Shrub / TSI

Correct Answer :-

« Shrub / TS

91) In flowering plant, young buds are nipped without giving them the chance to sprout and to make the terminal bud to
give bigger flower. This is known as: /

gfya gt #, 95 wforersi o fawRia 9 &1 mier it famr ok 98 wa 37 & e cfifqa et a7 & R 32 Bl
fear smar 81 39 A = A ST Srer 8:

1. Pinching / W (fﬁlﬁm)

2. Thinning out / fave (firﬁm 3{130)

3. Heading back / TR FaRoT (%'%"T aih_)
4. Disbudding / FsfermaH (feTafem)

Correct Answer :-

« Disbudding / i (Fsaafem)

92) A mineral that forms an original component of rock is called as: /
g8 WA, 5l A & U g ged P fAuivr s=ar g, e searar g:
1. Accessory mineral / HgTddh Qe

2. Secondary mineral / fedias® @A

3. Primary mineral / I CRC IR

4. Essential mineral / 3{Ta=gdh @f-Tol

Correct Answer :-

e Primary mineral / PIUIECRCIE |

93) Papaya is commercially propagatedby_ ./
T FTIfRE SAEA S ERIg |
1. Air layering / TOR g

2. Seed / |1

3. I budding / 1 HH

4. T budding / T HPald

Correct Answer :-

o Seed/dS

94) Mung contains nearly of proteins. /

T AT W T 3|



1. 20%
2.24%
3. 18%

4. 28%

Correct Answer :-
o 24%

95) Banana is commercially propagated by method. /
A B AR SaeT_ RfrAgars

1. runner / YR

2. sucker / ghI

3. offset / THIC

4. layering/aﬂﬁ"'[

Correct Answer :-

o sucker / Hh

96) Girdling is most common in .

e Ao U urE Sl B
1. Citrus/ﬁ@q
2. Litchi / &l
3. Mango / 3{H
4. Grape / 3R

Correct Answer :-

« Grape /3R

97) Close planting of tall growing trees all around the orchard is called as: /
FARIE & IRI SR d 95T BT W AUTS (G WiTET) B HT o1l 3
1. Shelter belt / e T

2. Fencing / ENCE|

3. Wind break / ATeRIEH

4. High density planting / 3= Y-Icd ATl q&nﬂw

Correct Answer :-

« Wind break / aTaRIg

98) Which of the following is/are the objective/s of tillage? /
fFAfafea 4 3 g5 S SERTTA 2
1. Only seed bed preparation / Had dI B TR (‘v'ﬁg QE) TR BT



2. Only aeration / Had dRY AR
3. Only weed control / FId WR-UqdR a0
4. All of the above / ITRIad Tt

Correct Answer :-

« All of the above / JURIad gt

99) Which of following is an example of ‘annual plant’? /
frafafed # @ o4 wwadfa N &1 T Ieerue?

1. Acalypha / Qm

2. Acacia auriculiformis / WW@%

3. Adenocalymma allicea / @W P@?@W

4. Althaea rosea (Hollyhock) / WW(W

Correct Answer :-

o Althaea rosea (Hollyhock) / ol iforar (5’?@7{’5’7@}

100) Nitrogen belongs to the category of nutrients. /

AgeeH __ dive aif & Weka 21

1. None of the above / STRIGd § ¥ D15 a1
2. Primary / WTYfH®

3. Secondary / fgdiae®

4. Micro / J&H

Correct Answer :-

e Primary /Ty



